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public class A {
private int 1i;

public A(int 1){
this.i = 1;
ks
@0verride
protected void finalize() throws Throwable{
super.finalize()
System. out.println(String. format("{%d} : Bye Bye", this.i));
ks

public static void main(String[] args) throws InterruptedException{
A[] aArr = new A[] {new A(1), new A(2)};
aArr = null;
System.gc(); //call gc
Thread. sleep(2000); //sleep for 2 seconds
System.out.println("Finished running main!");
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public class A {
private A next = null;

public static A singled = new AQ);
public static long instancesCounter;

@0verride

public void finalize() throws Throwable {
super.finalize()
this.next = singleA;
singleA = this;

}

public static void main(String[] args) throws InterruptedException {
while (true) {
A a = new AQ);
instancesCounter++;
if (instancesCounter % 10000 == 0){
System. out.println(String. format("instances: {%d}",
instancesCounter));
int singleAlLength = 0;
for (A start = singled; start != null; start =
start.next){
singleALength++;
ks
System. out.println(String. format("singleALength =
%d", singleALength));
ks
ks
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public class A {
private int 1i;
public A(int 1){
this.i = 1;

}

public String toString(){
return String. format("AC({%d}", this.i);
}




public class Box {

A a;

String str;

public Box(A a, String str){
this.a = a;
this.str = str;

}

public String toString(Q{
return String. format("B(%s, %s)", this.a.toString(),
this.str);

}

public Object clone(){
return new Box(this.a, this.str);

}

public static void main(String[] args) {
A al = new ACL);
Box bl = new Box(al, "abc");
Box b2 = (Box)bl.clone();
System. out.println(b2);
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public Object clone(){
return new A(this.i);

}
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public Object clone(){
return new Box((A)this.a.clone(), this.str);

}
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public class Box {
A a;
String str;

public Box(A a, String str){
this.a = a;
this.str = str;

}

public String toString(){
return String. format("B(%s, %s)", this.a.toString(), this.str);
ks

public static void main(String[] args) throws
CloneNotSupportedException {
A al = new ACL);
Box bl = new Box(al, "abc™");
Box b2 = (Box)bl.clone(Q);
System. out.println(b2);
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public class Box implements Cloneable
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public Object clone() throws CloneNotSupportedException{
return super.clone();

}
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public Object clone() throws CloneNotSupportedException{
Box clone = (Box)super.clone();
clone.a = (A)this.a.clone();
return clone;

}
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